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Question Number : 1 Question Id : 6981771837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When Shiva was an infant. he used to call all the girls of his elder sister’s age
as ‘akka’. Later, he slowly differentiated and called only his sister as ‘akka’.
The principle of development that explains this is
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Options:

Development proceeds from general to specific responses
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Development 1= interrelated
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Question Number : 2 Question Id : 6981771838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child who 1s confused to pick up a snack box from among different shape
boxes that have the same quantity of snack 1s in this stage of Piaget's theory of
Cognitive Development
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Options :

Formal operational stage
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Sensory motor stage
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Pre-operational stage
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Concrete operational stage
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Question Number : 3 Question Id : 6981771839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The positive aspect of behaviour of stage III of Erickson's Psycho-social

development 1s ‘Initiative’ while the negative aspect of behaviour of the same

stage 1s
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Question Number : 4 Question Id : 6981771840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A school Principal, during the orientation to parents has requested them to
cooperate with the school so that together they can develop qualities like
positivity, patience, tolerance, friendliness, calmness in the children. Here the
Prineipal is talking about developing these
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Question Number : 5 Question Id : 6981771841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Raju asked his friend. ‘which group 1s your son pursuing in Intermediate’? His
friend replied that, ‘my son 1s in Intermediate, but, I do not know which group

he 1s pursuing’. Parenting style of Raju’s friend 1s
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Uninvolved
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Authoritarian
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Authoritative
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Question Number : 6 Question Id : 6981771842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A researcher wants to study the social development of primary school

children of government schools. The best one among the following to study

Options :

Projective Technique
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Anecdotal Record
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Experimentation
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Introspection
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Question Number : 7 Question Id : 6981771843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following 18 NOT an environmental factor that influences

learner’s learning

Options :



Teacher experience
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Question Number : 8 Question Id : 6981771844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Vygotsky did NOT attribute much Importance to one of the following

factors in a person’s cognitive development
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Cultural and Social Environment
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Mediation
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Question Number : 9 Question Id : 6981771845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the general principles of motivation among the following
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A Readiness to learn
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B) Active participation in learning
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C)  Clarity of goal and purpose

D) Useof appr{}priate methods and devices
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A B&C only
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AB.C&D

B.C & D only
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A, C & Donly
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Question Number : 10 Question Id : 6981771846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ankit went along with his parents for a holiday first to Malaysia and then to

Thailand. Later he could recollect more of Malaysia's memories than Thailand.
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Proactive inhibition
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Selective forgetting
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Question Number : 11 Question Id : 6981771847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Teachers with this attribute understand the feelings of the learners better
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Long experience
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Question Number : 12 Question Id : 6981771848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following DOES NOT promote ‘learning to learn’ skalls
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Question Number : 13 Question Id : 6981771849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the following children with special needs, the group that needs

alternatives to motoric responses and speech are
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Hearing lmpalrment
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Question Number : 14 Question Id : 6981771850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT true with regard to learner - centered paradigm
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Information 18 transmaitted
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Knowledge 1s constructed
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Question Number : 15 Question Id : 6981771851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following indicates the purpose of planning a teaching
activity
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C) Catering to individual differences
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Question Number : 16 Question Id : 6981771852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the statement that does NOT justify the Spiral Curriculum approach

of Bruner
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Options :

Students can continually reinforce and expand upon prior learning
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Students can apply present knowledge in new contexts
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Students can have a deeper understanding of concepts
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Students can complete one concept and move to a separate new concept
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Question Number : 17 Question Id : 6981771853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following teachers i1s ‘Unbiased’
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Options :

A teacher who promotes learning among boys ignoring girls
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A teacher who does not allow students with any complaint to reach her
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A teacher to whom all students feel free to approach with personal, class
and subject related queries
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A teacher who gives similar activities to all students irrespective of
their abilities.
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Question Number : 18 Question Id : 6981771854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following is NOT a child friendly procedure incorporated in POCSO
Act
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Options :

Recording the statement of the child at the police station only
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Child cannot be detained in the police station at night
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Police officer not to be in uniform while recording statement of the child
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Medical examination of child to be conducted in the presence of child’s

parents only
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Question Number : 19 Question Id : 6981771855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the Conative developmental task among the following
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Question Number : 20 Question Id : 6981771856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



According to Bandura, learning 1=
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Options :

Behavipural process only
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Question Number : 21 Question Id : 6981771857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the following statements. identify the one that contributes for

enhancement of creativity among children
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Who propounded Classical Conditioning Theory?
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Describe what will happen if human beings have wings lilke birds.
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Asking the children to identify the Continents in the Globe
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Question Number : 22 Question Id : 6981771858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A student solved a math problem. Again. he solved another problem which is

little bit difficult. With that encouragement, he constantly engaged in solving

mathematical problems. This is an example of Thorndike's this law of learning
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Law of Readineas

wh B s oyl
NC'NEI@ eJ0s00



Law of Exercize
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Law of Discrimination
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Law of Effect
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Question Number : 23 Question Id : 6981771859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following could NOT be considered as an obstacle for conduct of
Inclusive Education m schools
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B)  socio-economic atatus
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C)  differences between rural and urban areas

i

PSes 5080 Hees Erodre ol aBmen

- 'y

E

&8

D)  physical and learning disabilities
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B.C & Donly
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Question Number : 24 Question Id : 6981771860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT essential to make children learn motor skills
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Options :

Providing opportunities to learn
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Introducing skills when they are ready to learn
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Introducing many skills at a time
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Providing guidance to learn

Question Number : 25 Question Id : 6981771861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per NCF. 20053, these factors influence the access to education in our
country
NCF, 2005 @580, & wozren 308 OF08" D3 woltharénd Herddo darow
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B) Economic Status
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A B & Donly
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Question Number : 26 Question Id : 6981771862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the RTE Act. 2009, one of the following 18 NOT the function of the
School Management Committee
RTE 0, 2009 {=80, 80b BE® 288 &md Daddod Ees HomoBodd DE
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Options :

prepare academic calendar and school time-table
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monitor the working of the school
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prepare and recommend school development plan
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monitor the utilisation of the grants received from the appropriate

governm ent
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Question Number : 27 Question Id : 6981771863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher to teach the topic, "parts of a flower” imitially presented the flower as
a whole and later explained parts of the flower. The method adopted by the
teacher is based on this learning theory
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Options :

Trial and Error Learning Theory
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Insightful Learning Theory
=4 ig &5 %‘ 'o:r.,., e -?CITO':_'EIO

2. ¢
(Classical Conditioning Theory
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Operant Conditioning Theory
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Question Number : 28 Question Id : 6981771864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to Perzonality
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Personality includes all behavioural patterns. 1e.. cognitive, affective and
conative
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Personality covers conscious, sub-conscious & unconscious activities
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Persmmlity 15 the product of heredity & environment
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Personality of an individual 1z static
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Question Number : 29 Question Id : 6981771865 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The behavipural problem among the following usually resorted in childhood to
seek attention of others is
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Question Number : 30 Question Id : 6981771866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A pre-primary teacher has changed the bullying behaviour of a 4 year old

child by using rewards at appropriate times and thus shaped his behaviour.

This behavipur modification is better explained by this theory
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Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Language I Telugu

69817757
2

Online
Mandatory
22



Number of Questions to be attempted : 22

Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817793
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981771867 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6981771868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 6981771869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 6981771870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981771871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 6981771872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 69817794
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981771873 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6981771874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks :
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Question Number : 37 Question Id : 6981771875 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981771876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981771877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 6981771878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3

Sub-Section Id : 69817795
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 41 Question Id : 6981771879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 6981771880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 43 Question Id : 6981771881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

R BTy o
i%m,dﬁ':- TP &ddal

Options :

A
£ 020300
1. % -



Question Number : 44 Question Id : 6981771882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981771883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id

: 6981771884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 6981771886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 6981771887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981771888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981771889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981771890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

T

i e Saw oy — o, iy e % e
B S li\u-l' ot el ‘_"jl-_':_!'f:'-".'i,.. a0 u{lJ"".?i.r '-'.,.,-cC' ofy. &

o
(i,
O
|

Options :

L
(2,
fina
':.I 5
L=
2F.
5)

1.v 8%

Y gV, :
n.IDCIHl;JS sShHao

":jl‘i £l
£,
s,

i T
PSla T ENTahrals)
-

Question Number : 53 Question Id : 6981771891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981771892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981771893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981771894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981771895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981771896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981771897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 6981771898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Section Id :

Section Number :
Section type:
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
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Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 69817796
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981771899 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the correct

option for each question.

The 1dea of evolution, which 1s gradual change. was not a new one. The Greeks had
thought of it, so had Erasmus Darwin. the grandfather of Charles Darwin. and also the
Frenchman, Lamarck. It 1s one thing to have an 1dea: we can all guess and sometimes make a
lucky guess. It 1s quite another thing to produce a proof of the correctness of that idea.
Darwin thought he had that proof m lus notebooks. He saw that all animals had to struggle to
survive. Those which were best at surviving their environment passed on the good qualities
which helped them, to their descendants. This was called 'the survival of the fittest. Darwin
believed that this necessity for an animal to deal with its environment explained the immense

variety of creatures.

Sub questions

Question Number : 61 Question Id : 6981771900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What does the concept of evolution primarily refer to?

Options :

1.



The study of birds

“
Gradual change
The study of animals

. The work of Charles Darwin

Question Number : 62 Question Id : 6981771901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who thought about evolution before Charles Darwin?
Options :

1 % Isaac Newton

Albert Emstemn

3 ¢ Erasmus Darwin

Nikola Tesla
4, %

Question Number : 63 Question Id : 6981771902 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to the author. what 1s implied about guessing in the paragraph?
Options :

It 15 one way to establish the correctness of the idea.
1.4

It can always result i a lucky correct guess.
2. %

It 15 as valuable as providing an idea.
3. %

4 % It should be avoided in scientific endeavors.

Question Number : 64 Question Id : 6981771903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The phrase Darwin used to describe the process of the best survivors passing on their

qualities

Options :

Natural selection

Evolutionary race



Genetic transfer

The survival of the fittest
4, &

Question Number : 65 Question Id : 6981771904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where did Darwin record his observations that led to his theories?
Options:
i a journal

1. %

i his letters

i his notebooks
3.¢

in his books
4. %

Sub-Section Number : 2
Sub-Section Id : 69817797
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 6981771905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

He said to me. “I am in class five.”

Identify the correct reported speech of the above sentence:

Options :

He told me that he 15 in class five.

1. %
He told me that he was in class five.
2. %
He told me that I am in class five.
3 %
4% He told me that he will be 1n class five.

Question Number : 67 Question Id : 6981771906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Oh! It’s a fantastic car. 7

Choose the correct question tag to complete the sentence.

Options :
15 1t?

1. %

1sn't 1t?
2.



1s that?

4 % 1sn’t that?

Question Number : 68 Question Id : 6981771907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Due to heavy rain. the match was

Choose the correct phrasal verb to complete the sentence.
Options:

1 ¢ called off

called in

2 %®
called on
3. %
called up
4, %

Question Number : 69 Question Id : 6981771908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Wordsworth 1s one of the in English.

Choose the right option to complete the sentence.



Options :

1 greatest poets

greatest poet
2. %

great poet
3, #

greater poet
4. %

Question Number : 70 Question Id : 6981771909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I asked them to do. they did it.

Choose the correct option to complete the sentence.

Options :

Though
1. %

Ag

Yet

So



Question Number : 71 Question Id : 6981771910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

There 1s a cute boy who all the gatherings.

Pick the correct word to complete the sentence.
Options :

attractive

atiract

3 % aftracting

attracts

Question Number : 72 Question Id : 6981771911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

He on an email when I reached his home.

Choose the correct verb form.

Options :

15 working

work



was working
3. %

had been worked
4. %

Question Number : 73 Question Id : 6981771912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A good judge never searches the conclusion.
Choose the correct preposition.

Options:
for

1. %

in

3 % about

o

Question Number : 74 Question Id : 6981771913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



After retirement. they are leading a peaceful life.

Choose the opposite word for “peacetul™.

Options:

unreal

disturbed

3 % calm

tranquil

Question Number : 75 Question Id : 6981771914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

He felt like a fish out of water.

Choose the meaning of the expression “like a fish out of water™.

Options :
homeless

disgusted
2 %

uncomfortable
3.v



thirsty
4. %

Question Number : 76 Question Id : 6981771915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
It 1s book.
Choose the correct option to complete the sentence.
Options :
a unique

1.+

an unique

3 % theunique

unique
4. m

Question Number : 77 Question Id : 6981771916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

One of my friends are coming to meet me today.

A B C D

Options :



Question Number : 78 Question Id : 6981771917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the word with the correct spelling.
Options :

Archaeology

Archielogy

Archaology

Archealogy

Question Number : 79 Question Id : 6981771918 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in “wrinkle™.

Options :

k
1. #

1
2. %

#
3. %

W
4.

Question Number : 80 Question Id : 6981771919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chinese noodles 15 on the dinner

Choose the correct word to complete the sentence.
Options :

index

agenda



menu
3. ¢

catalogue

Question Number : 81 Question Id : 6981771920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The party in power conceded its defeat in the election.

The meaning of the word “conceded™ is
Options:

1 % celebrated

accepted

3 % disagreed

fortified
4. ®

Question Number : 82 Question Id : 6981771921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



We eat we may live,

Choose the correct option to complete the sentence.

Options :

1 % but

or else

otherwise

so that

Question Number : 83 Question Id : 6981771922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
I know her.

Identify the Passive Voice sentence.
Options :

She 15 known to me.
1.9

She 15 known by me.
2. %

She was known to me.



She 1s known with me.
4, %

Question Number : 84 Question Id : 6981771923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct option in which the jumbled words are ordered.

a job 1in the school /had studied /where she / She took
Options :

She took a job where she had studied in the school.

1. %

She took a job 1n the school where she had studied.
2. %

She had studied where she took a job in the school.
3 %

4 % Shetook a job she had studied where in the school.

Question Number : 85 Question Id : 6981771924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These teacher made tests are directly related to the syllabus taught
Options :

Achievement Tests
1. %



Diagnostic Tests

2. ®
Placement Tests
3. ®
Proficiency Tests
4. %

Question Number : 86 Question Id : 6981771925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Multilingual’ refers to the ability to use
Options:
a language without seript for communication.

1. %

one language for communication.

two languages for communication.
3. %

more than two languages for communication.
4.¢

Question Number : 87 Question Id : 6981771926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Learning without burden’ 1s associated with
Options :

| National Curriculum Framework (2005)

National Policy of Education (1986)

2 %
State Curriculum Framework (2010)
3 ®
Kothari commission (1964 — 66)
4, %

Question Number : 88 Question Id : 6981771927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The main aim of teaching short story in English at secondary level 1s

Options :
Language and literary development

1.9

Language development only
2. *

Literary development only
3 %



Recite the prose with proper rhythm

Question Number : 89 Question Id : 6981771928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Children learn English etfectively when teacher
Options :

provides notes.

explains lessons word to word.

gives homework regularly.

mvolves them in classroom activities.

Question Number : 90 Question Id : 6981771929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The following method 1s considered the oldest method of teaching English m India.
Options :

Dhirect Method
1. %



Structural Method

2_ w

Grammar Translation Method
3.¢
4 % Communicative Language Teaching Method

Social Studies

SectionId: 69817759
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 69817798
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 91 Question Id : 6981771930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The local time of two cities ‘X' and 'Y" 15 5.30 pm 1n spite of their location in

two different continents. Hence, they are said to be located
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Options :

On the same latitude

=

2.5 ¥3Zrod0yR)

1. %
On the same altitude
2.8 aldipe”
2. ®
On the same longitude
2.2 Ogrod o
3. ¢
Neither on the same latitude nor on the same altitude
2.8 egrodon Bor 2.8 A B
4. %

Question Number : 92 Question Id : 6981771931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



According to Geologists, the landforms like mountains, plains and plateaus
are called as
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Options :

First order land forms
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Second order land forms
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Third order land forms

™ -
o s =5 o XL L G
olPiie) (oED ﬁ.ﬁ"n);i\i-”c?""ﬂﬁ

L

3. %

Intrusive land forms

Question Number : 93 Question Id : 6981771932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The hydrological cyvcle 1s sometimes explained as RE=RO+ET. Here, ‘ET

refers to

5F u:\n_-D_r.-' h_, el u;ﬁtr_d_ RF-= RDTET: Sabotiathimod, f::. i, ET F:jr & Lm..O"'J'

Options :

1.



Evaporation and Transportation

Erosion and Transportation

Bengcoho snbain Sarer
2. %

Evaporation —Transpiration

-E-: 'fﬁééﬁ —ge o) E 50
3.¢

Erosion and Transpiration
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4. %

Question Number : 94 Question Id : 6981771933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One important feature of Stratosphere 1s
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Options :

It contains electrically charged particles

80 e T_Sereid LA sotnod

The temperature increases with the decrease in altitude
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It contains ozone layver

8 £,5°5 ordsh 9A Géotnod
3.¢¥
Badio waves transmitted from the earth are reflected back to the
earth
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Question Number : 95 Question Id : 6981771934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘U’ Shaped Valleys are formed due to the work of

63 PHErRose 'U' e85y S°aDen o,-t) @00
Options:
Water
1. ® s
Wind
2. ﬁ i""r.\:?'l
Waves

3 % 8Oorren

Glacier



Question Number : 96 Question Id : 6981771935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The High Pressure Belts on the earth are at
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Options:

Equatorial and Sub-Polar Region
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Equatorial and Sub-Tropical Region
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Sub-Tropical and Polar Region
&5-8chEty DO hH @rodo
4.

Question Number : 97 Question Id : 6981771936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



From among the following. the distinct feature of the Indian Agriculture is
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Options :

Large land holdings
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High Productivity
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Usage of New Technology
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3. %

Presence of Small Land Holdings
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Question Number : 98 Question Id : 6981771937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Naharkatiya- Moran Region, Bombay High and Cambay Basin are
associated with this mineral of India
o R . T — 7 o
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Options:

Mica



(1l resources

2.
R[nnganeue
aPolidR
3 %
Iron-Ore
axa_-—L;J %G—E.’
4, %

Question Number : 99 Question Id : 6981771938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These Mountains are regionally known as Patkai, Naga. Manipuri, Khasi

and Mizo hills

T ST e ey WY gy = O TV U T A e e Y S
£ H5Ered @rosdiorr 28, e, 20e8e30, 70 2u8aD fhE® Soen & OLJ‘PDV

Options:

The Greater Himalavas
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The Shiwalik Ranges
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The Purvanchal Mountains
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Question Number : 100 Question Id : 6981771939 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The pattern of the elements of weather and climate for a place can be shown
using pictures called
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Options :

Cartography
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Geomorphology
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Question Number : 101 Question Id : 6981771940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A population pyramid shows
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Options :

The number of males and females in different age groups in a country

G808 DO dchie SSrsfedt 5, ayBoepe Hoay
1. ¢ -
The number of persons living per unit area
2.8 Ghrdd Erodod” AHHind) e Hogy
2. % ' -
The percentage of increase in population In a unit area
2.8 0P Erodod® marer RHIDGe Eo0
3. ®
The number of males and females between the age groups of 15-59
yvears only
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Question Number : 102 Question Id : 6981771941 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The river Indus flows in this direction through Tibet
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Options :

North —easterly

i
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North-westerly
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Question Number : 103 Question Id : 6981771942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These so1ls swell and become sticky when wet and shrink when dried and

during the dry season, these soils develop cracks
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1. %



Red Soils
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Black Soils
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Question Number : 104 Question Id : 6981771943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Panaji, the capital of Goa. experience moderate chimate because of 1ts location
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Options:

at higher elevation
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very near to the north pole
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very near to the sea shore

in the Indo-Gangetic plain
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Question Number : 105 Question Id : 6981771944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Approximately. a massive super continent “Pangaea™ have existed
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Options :

10 million years ago
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100 million years ago
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220 million years ago
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150 million years ago
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Question Number : 106 Question Id : 6981771945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 18 NOT the feature of 1991 industrial policy
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Rewvitalisation of the public sector
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Question Number : 107 Question Id : 6981771946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the FALSE statement related to ‘Pradhan Mantri Jhan Dhan

Yojana’
RS Shod@ 28 88 dradd Sonohod) S0P ?geﬁ.:‘-o 5 hBoSod
Options:

There 1s no Overdraft facility

-

L35 FPET0 Sth

1.¢ &3
Rupav debit card is given
Pal g
5 % &) GAES o0 adelod
It is launched in August, 2014
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3. %
Account can be opened with zero balance
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4. %

Question Number : 108 Question Id : 6981771947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the FALSE statement related to GST

GSTE Hozobhol) 3808 %effoo Evlavialetatele
Options:

Most of indirect taxes have been replaced with GST
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It 15 launched 1n 2014

58 2014&° Erdofloaloh
2.

It imposed taxation on both production and sales of goods and services
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Under GST. the goods and services carry the same tax across the
country
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Question Number : 109 Question Id : 6981771948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT related to Human Development Index
80d B}, SrdardH B8 Somobol) S0P TE;

Options :

Literacy rate 13 considered

HDI Rep@rt 1z published by UNDP
HDI 23655 UNDP 608



Health indicators are considered

-
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3. %
Per capita income 1s not included
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4.9

Question Number : 110 Question Id : 6981771949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The major reason for low calorie intake among Indians 1s
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Options :

Lack of purchasing power of people
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1.4

Less availability of food grains
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Food grains are not grown In many areas
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People are not purchasing the food grains due to ignorance
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Question Number : 111 Question Id : 6981771950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, globalisation 1s actively started after

OE050d" BN SWard Pc & S8 % FndBod
Options:

4214 3 mendment of the Indian Constitution
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1991 Economic reforms
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1956 Industrial policy resolution
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Question Number : 112 Question Id : 6981771951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the poor families, the poorest are entitled to have:
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25 kgs of food grains
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Question Number : 113 Question Id : 6981771952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Silent spring’ written by Rachel Carson was related to
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Impact of Global Warming
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Impact of Globalisation
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Impact of DDT
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Impact of Green Revolution
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Question Number : 114 Question Id : 6981771953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One among the following 1s NOT the part of service activity
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Options :

Tailoring
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Auto driving
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Question Number : 115 Question Id : 6981771954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The emperor Ashoka sent messangers to Syria, Egypt, Greece and Sr1 Lanka

o spread the

w8’ $556 HBcTr, &b, AS
Options :

religion of Hinduism

’|_ - i

concept of ahimsa

@2PoaP PSS Fordo Acheds
2. ®

idea of one religion and one God
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3 %

ideas about dhamma
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Question Number : 116 Question Id : 6981771955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
These tribals live in the dense forests and hills of the Araku Valley in
Vishakhapatnam and in the dense forests of Malkangiri in Odisha
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Question Number : 117 Question Id : 6981771956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Gana form of Government existing in Vajji Mahajanapadha



There was only one ruler
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There were a group of rulers instead of a single ruler

5.2 Jpetd8 athen Jrehe HErdo Sobae

2.
The grihapathis who owned the maximum land ruled the
Mahajanapadha
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The perfm‘mers of rituals ruled the Mahajanapadha
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Question Number : 118 Question Id : 6981771957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the famous Parivrajaka
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Options :

Gautama Budha
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Mésan ﬁ'JC’Jé ES]

Vardhamana Mahavira



Makhlkhali Ggshala
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Question Number : 119 Question Id : 6981771958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Gurunanak's teachings are now known as nam japna and kirt-karna and

vand chakna, which underline the importance of
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Options :

right belief. right path and meditation

08 dangrio, H0® «rdo 0BG Trgo
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1. %
right belief and worship. honest living and helping others
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Contemplation. performance of yoga and worship of God
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Meditation, Yoga and Contemplation
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Question Number : 120 Question Id : 6981771959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The theory that i1s based on the assumption that production and physical
forces have an intimate relationship and the surplus value of products should

go 1n favour of the working class
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Options:

Socialism
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Marxism
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Communalisn
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Luddhism
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Question Number : 121 Question Id : 6981771960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This has been referred as the shift from an agrarian, handicraft. labour
Intensive economy nto one dominated by machine manufacturers, factories
and a free flow of capital
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Agricultural revolution
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White Revolution
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Blue Revolution
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Industrial Revolution
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Question Number : 122 Question Id : 6981771961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Mushm Sultans and Badshahs did not claim to be mcarnation of God. but
Persian court chronicles described the sultan as
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Options :

The Messenger of God

1. %
The Shadow of God
Fur o By or

- S50 2
The Servant of God
DD Hd%EH

3. %
The Sun of God
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Question Number : 123 Question Id : 6981771962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the founding members of the Indian

National Congress
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Dadabai Nauroj
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Badruddin Tyabj

Mahatma Gandhi
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Surendranath Banerjee

Question Number : 124 Question Id : 6981771963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The initiator of Nationalism in Hyderabad State was
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Options :

Mulla Abdul Qayyum
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Nizam Mir Osman Ali Khan
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Question Number : 125 Question Id : 6981771964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Qutub Shahi ruler who mvited and honoured Kshetrayya, the famous
padam writer to his court
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Abul Hasan Tanashah
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Abdullah Qutub Shah
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Mohd. Quii Q@utub Shah
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Question Number : 126 Question Id : 6981771965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1806 CE. this ruler of France conquered the small and independent
kingdoms of Germany and formed Rhine Confederation
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Options :
Louis Phillippe
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Napolean Bc:nnaparte
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Charles X
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Louis XVIII
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Question Number : 127 Question Id : 6981771966 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The provision of a federal system with a strong central government was
adapted from this constitution
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Options:

Canadian Constitution
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French Constitution
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Irish Constitution
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United States Constitution
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Question Number : 128 Question Id : 6981771967 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Indian Constitution contains the Directive Principles of State Policy
(DPSP) in
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Options :

Part V. Articles 36-51

a8 V, mBss, 36-51
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Part IV, Articles 36-
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Part III, Articles 36-51
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Question Number : 129 Question Id : 6981771968 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Election Commissioners are appointed by
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Options :

the President of India on the resplution of the both the Houses of

Parliament
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the President of India on the advice of the Council of Ministers and

chief ministers of all the states
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the President of India on the advice of the Central Counecil of
Ministers, leader of opposition and the Chief Justice of India
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the President of India on the advice of the Central Council of Ministers
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Question Number : 130 Question Id : 6981771969 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Rajya Sabha can delay the Money Bill passed by the Lok Sabha for a period

not exceeding
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14 days
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10 days
10 B%ezven

Question Number : 131 Question Id : 6981771970 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Judge of the Supreme Court can be removed by
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Options :

The President on the resolution passed with a special majority in the

both houses of parliament
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The President on the recommendation of the cabinet ministers

Lon— T o ;o o e = R =, o
S2)J65 shole gty Tloleed & AP



The President on his /her own diseretion
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Question Number : 132 Question Id : 6981771971 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The voting age was decreased from 2lyears to 18 years for both Lok Sabha

and Legislative Assemblies elections with this constitutional amendment
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Options :

73" mendment Act
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44 amendment Act
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61% amendment Act
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527 o mendment Act
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Question Number : 133 Question Id : 6981771972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This constitution schedule deals with the official languages recognized by the
Constitution of India
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Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement about Local Government in India.
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Options :

Local bodies generate their revenue from property tax. octrol. user

charges, license fees. and other levies.
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1. #
The State Election Commission is responsible for administering
elections to the Local Self Government.
i"“flé (23808 dyBe A8 ePEa TP5 aahBe Hosno S%otnod.
2. % . =
Local Government bodies are autonomous bodies.
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3. % i
The term of the local body government 1s six years
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Pick the correct one about the constitution of Security Council of UNO.

UNO giida® 59080 aomytn (D808 585 i) hBoSol
Options:

The Security Council 12 made up of fifteen member states, consisting of

five permanent members and ten non-permanent members elected for

five—vear term by the General Assembly.

gitiar shotid PTATAIY PSTaly Deef srirobodatod, s0thd® athits o
:,

2ében HB0W HH shod e 8 Hdnen e ] ®RoE T n0E serls

o Bratier.

The Security Council 1s made up of ten member states. consisting of
five permanent members and five non-permanent members elected for
a two-vyear term by the General Assembly.
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The Security Council 1s made up of fifteen member states, consisting of
five permanent members and ten non-permanent members elected for

a two-year term by the General Assembly.
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The Security Council is made up of twenty member states, consisting of
five permanent members and fifteen non-permanent members elected

for two-year terms by the General Assembly.

Question Number : 136 Question Id : 6981771975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mmimum population required for a city to become Municipal Corporation
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more than 10 lakhs
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more than 12 lakhs
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Question Number : 137 Question Id : 6981771976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The words ‘socialist’ and ‘secular’ were made a part of the Preamble by
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The following country is NOT a member of SAARC
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Options :

Thailand
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Question Number : 139 Question Id : 6981771978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The statement. “The social studies program is defined as the study of man
and his interaction with his social and physical environment in the past,

present and emerging future” — was quoted by
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J.F. Forrester
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The advantages of teaching social studies at school level are
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A) Social learning
FErEs elhdo

B) Competence in Tackling problems
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C) Tra in_ing in Non-cooperation

535800 AorElsd” 35k
D)  Development of the power of thinking and reasoning
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Choose the correct one:
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Options :

A B& Conly
A, B & C srgah
1. %
A.B& Donly
A B & Dirgsd
2.
B.C & D only
B, C & D sresadh
3. %
AB.C&D
4, %
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Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Match the following List — A with List - B
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List — A List — B
edee— A erde — B

A) Christopher columbus 1)  Takshashila

B 50 Booal B538e
B) Chanakya 11)  Shanthi Niketan
TPEa D FOBIESS
C) Amartya Sen i) Skopje
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D} Mother Tereza iv) Genoa
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ChODSE‘ the COorrect answer.
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A—-1w:B—1:C—1u;D—m
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Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A class-8 student, 1s actively/clearly identifying the given locations in a
map, and also explaining the merits and errors in the map. It is reflecting the

following skill among him.
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Manipulation
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Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the WRONG pair among the following

% Bob AE° J0eeN axdlch DBohan.



Options :

PTA meeting — Bringing the community to the school

PTA Zirddo — Jiperd)) arbreh 8Hoedto
1. #
NSS programme — Taking the school to the cmmnun_ity
NSS sedigsvo — ePEared Sireo (H5H & 855H5RSe0
2. ®
Social studies textbook — Teaching learning material
}J’-" 0 ?.:: 'T_l E::- -_D‘j Dd, ch' [::J% '\o_,'l.,., f‘\_ES _FDH.-Jlﬁ
3. % =
Field trips — Secondary Resources
S SBstaden — B: 8D Hdthen
4.

Question Number : 144 Question Id : 6981771983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Writing objectives and specifications in the lesson plan improves these sklls

among teacher trainees in Micm—teaching.

" o820 s gy D or RS e g e G
K g; 5986 o8y Herls T E rTPiinen ogen, SaElnsned Erane Sed

5

B8 & Federcen DHED
Options :

Instructional skills



Post — Instructional skills

2 QP00 JaEFPren

Pre-instructional skalls

SO0 8 Sdeseren
3.¥
Feedback skills

1

#
1

ot oy B ¥ast, i
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Question Number : 145 Question Id : 6981771984 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following lessons given in List-A with their related themes m
List-B.

erdlE A &9 rrrodsined, le-B &0 480 Honododd a&h@ines

3888, 06.
List— A List-B
lar— A Al

A) The polar regions i)  Production, Exchange and livelthoods
5% ERodanen &8, DAcho, Edrrto

B) Mughal Empire i)  Diversity on the earth
Fnahene JPEPeso FEh-Jaldo

C) Industrial Revolution 1) Social organisation and inequities
SPBEEE DnHo RS & aﬂwnf‘ﬁm — edsimdden

D) Understanding Poverty  iv) Political system and governance
2BE0 — wHES TasS e Hi5es - e

ChODSE‘ the correct answer:

DBEDE KRRl fBosn:
Options :

A-1nB-um;C—1v;D-1

1. %

A-m:B—wv:C—1:D—n
2. ®

A=—di B=mw: O—=1mD—1
3. %

A-1n-B-iw:C—=1:D=m
4.

Question Number : 146 Question Id : 6981771985 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following 18 NOT applicable to the criteria of good social

studies textbook.
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Options :

It should promote group effort

B8 PP Rohend e Eroard
1. %
It should be well — 1llustrated
28 S5 adbodamd
2. # -
It should help in developing diversity in a nation
58 B¥08® FIrR) DoTPoboitos® & X
Y
3.
It should have a clear and self — explanatory arrangement
58 330 shbdw r 0h DS0erE,8 @shdsD :éli &0t
4, ® - '

Question Number : 147 Question Id : 6981771986 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the correct sequence to follow. while writing the lesson plan in SE
learning model

& Bod eAE" SE o8 Sdrare ard; perEa praingadih edbodiensd

i

A)  Explore
9370368

B)  Engage
Qanilyo Do

C)  Elaborate
Jides

D)  Explain
a5bes

E} Evaluation
soreriogto

Choose the correct one:

= T O N N A G v
200N TP rbaﬁ'%,ucﬁ_,l_:.

Options:

A.C,B.D.E
1. %

B,ADCE
2.

A.B.D.CE

B,.C, A, D E

Question Number : 148 Question Id : 6981771987 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following, these are the essential tools to be kept in social science

Int,

Y

R 7] 8 e (s
£ Sob EE°, Aroand T R E5,000m Gofdond HoEdmen.

iz

A)  Scale
Foarnd

B}  Measuring tape
Dheboh &5

C)  Compass
ﬁé?ﬁ;.fj

D)  Pointer
s

E) Thermometer
e‘;.\;, 23e)

F} Globe

Choose the correct one:

RO00N AR HBohsn:
Options:

ABCDE&F

1.¢
A B.C& Donly
A B, C& Dsrgsh
2. %
A ,C.D& Fonly
A, C, D& Fsrgd
3. %



A B.E& F only
A, B.E & F sirgsd

Question Number : 149 Question Id : 6981771988 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A class X failed student. applied for revaluation in social studies paper. but

there 1s no variation in the scores. It is reflecting the following characteristic

of an ideal evaluation.

Options:

Validity

vy -
coladol P ER e

1.%  ~

]

Objectivity

EVFsTovy f&@r‘_ﬂ

Diagnosticity

3. % ¥



Question Number : 150 Question Id : 6981771989 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following technique of evaluation can be used either by the teacher or by
the children themselves for evaluating progress.
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Options:

Socio-metric devices

SHES. A T RE o
7oy QTR -:\_IJ,E.'-\.-'B IS URED

1. %

Checklists

T
Died rarPa5en

2. ¢

Anecdotal records

wr
hale

3. %

Observation
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